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. In Section-A,

1326

5. This question booklet is divided into

two sections — Section-A and
Section-B.

there are
100 objective type questions, out
of which any 50 questions are to
be answered. If more than
50 questions are answered, then
only first 50 will be evaluated. Each
question carries 1 mark. For
answering these darken the circle
with blue / black ball pen against
the correct option on OMR Answer
Sheet provided to you. Do not use
whitener / liquid / blade / nail
etc. on OMR Answer Sheet,
otherwise the result will be
treated invalid.

. In Section - B, there are 30 short

answer type questions, each

carrying 2 marks, out of which any
15 questions are to be answered.
Apart from these, there are 8 long
answer type questions, each
carrying S marks, out of which

any 4 questions are to be
2 answered.

. > selaifE I 7 8 Use of any electronic appliances is
‘ | G & 1 strictly prohibited.
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g - A / SECTION - A

TR W9 / Objective Type Questions
wvT wear 18 100 T & uRE 9y & arer 9 fwes R o & i 4 wF
gzt &1 o g g3 T WE Fwew #1 OMR sz g Rt &+ el

50 gyt ®r v 4 50x1=50

Question Nos. 1 to 100 have four options, out of which only one is correct.
You have to mark your selected option, on the OMR-Sheet. Answer any

50 guesﬁons_. 50x1=250

1 8 R 9% % 9YE B FTFEd 8 ? :
&) Efme T2 g At wEfEE
€ fmmYEfE (D) 39 & wE T
What is a group of many indifference curves called ?
(A} Indifference bundle ° (B) Indifference map
(C) Indifference diagram (D) None of these
j" 2 T F W v e e St INIRET T AAH GgE ¥eE
| @ &, 97 gl ¢ ?
AA)  FAREE T B) TR g %
(€) W@ D) @B
The graphical representation of combination of two Agonds which

provide equal satisfaction to consumer is called

(A) Indifference curve - (B) Iso-utility curve
(C) Budgetline (D) Both (A) and (B)
b;/’” STt T ot dwia SfeTeAT R A & 2
uA)” TR (B) ®EWH
© fexr D) v aw Tl
What is the marginal rate of substitution of indifference curve ?
(A) Increasing (B} Decreasing *
(C}] Constant (D) None of these
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4. ITAET % gean R TR Y st 9 a8 2
(A)  wed R (B) 9 wt R
(©) ¥R wred (D) o a g Tl
At the optimum point of consumer, what does the budget line do to
indifference curve ?

e i L i, e B T 0T T

(A)  Cuts (B) Touches,
_(C) Cuts two times (D) None of these
(A) TR . (B} - HUTH®
(©) I=iw D) A B =r€f
What is the slope of demand curve ?
(A) Positive (B) Negative
' (C) Vertical (D} None of these
67 wma Iwg $1 Al e # gfg % w2
(a) e | ® wft
) Tera (D) W[ wd -
What would happen to demand for normal goods with rise in
income ? -
(A) Increase (B) Decrease
(C) Remain constant (D} All of these
// mnﬁmm—mmﬁmﬁ%m%mw@mt ?
A) ;T (B) EWEAl HHer
(C) W DY (A) IR (B)QHT |
What is the market demand curve of demand curves of dtffercnt :
individuals ? ‘ |
(A) Sum (B) Horizontal summation
(C) Difference (D) Both (A) and (B)
g, af: g @ ot a% IR R A A R W | e, | TR 2
) A) ey l=1 ~(B) le,|=0
(C) ley|=2 D) Je;li<1
e
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If the demand curve for a good is vertical then what would be the
elasticity of demanded ?

A e, =1 B} e, |=0
€ e, |=o D) e, l<1
9. uH Haw #in aF Fw g W -39 # wem ¢ g8 shr f @=w & o=
TR R ?
(A) e, =0 - B) e, =1
(C) leyl=o D) le;l<1

" At the point where the straight line demand curve cuts the x-axis,
what is the value of elasticity of demand ?
(A) le; =0 B) le;|=1
(C) le;|=ce D} lejl<l
10. WM 9% W GHIHW p-g=e aﬁpm, qﬁmaﬁ’tef@ﬂt‘%lw#ﬁﬂﬁ

w1 I AHR W ? |

A) dRH g T (B) NEAER FREEd

(€ Heft (D) TR Y@

The equation of demand curve is p-g=e where p is price, g is
quantity and e is constant. What would be the shape of this

demand curve ?
(A) Downward sloping curve (B) Rectangular hyperbola

. (€} Straight line ' (D) Vertical line
mmmma ?
\/g/ (A) aegalt & (B) QA =
c wmHE +B7 () 3 (B) TR
What does the economy produce ?
(A) Goods (B} Services
(C) Profit (D) = Both (A) and (B)
s {mﬁuﬁwqammmmmww%m
@ 2
(A) wmfd aefore B =y s
(C) g o (D) & % Tl
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16.

[ 326

Price determination and consumer behaviour is studied under
which economics ?

(A) Macroeconomics

(B} Microeconomics

(C) International economics

(D) None of these _

¥ 1020 ¥ 1933 ¥ &9 T naf A amwh # e SIS 2

(A) gEq (B) HET

(C) =hem (D) uf=at

Between the years 1929 and 1933, in every nth Americans
............... was unemployed.

(A) Second (B) Third

(C) Fourth (D) Fifth

Yoftardt 2w # Iearen fnarwe s gl A @ @ 2
(A) TR B) wogd

) Yol sufim (D) T8 HE

In a capitalist economy the production activities are in the hands of
(A) Government

(B) Workers

(C) Capitalist entrepreneurs

(D) None of them

areferaeen ¥ I9vn watdt folg R e gro ol 9 § 2

(A) UEie & (B) T &A%

(C) SR &F (D) T & B T

In an economy decision regarding consumption is made by
(A) Household sector ~ (B) Government sector
(C) Business sector (D) None of these

frafa # foreht 3w gr a9

) Fdw & sha foman S @

) fadw i fasea Rem 9 @
(© st S & smifaa R s @
(D) v awmh
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In export by a country the goods

{A) are purchased from abroad

(B) are sold abroad

(C) capital is invited into the country

(D)  all of these

17, kR S sm R Em e €
| (&) = W g O
© 9w D) Fwh
The income of which factor of production is called profit ?
(A) Labour (B) Capital
- (C) Land (D) Entrepreneur
18, feg dm # Shard ot ¥ o T Wt onfemmen i Bl
Ft g ?
@A) fwfa 2w By faradie 3
(©) (&) 3 (B) D) ¥ A Hd T
In which country, besides capitalist sector the state also plays a
role in the economy ?
(A) Developed country (B) Developing country
(C) Both (A) and (B) (D) None of these
19, g T S eI s § 7 T e, 0 e R 2
) weEdiwg By 3ifm T
() Tors g - (D) Yo I
What are the goods that are not destroyed by short term
consumption called ?
(A}  Intermediate goods (B) Final goods
o {C) Durable goods (D) Capital goods
20, et o ) g # fem aeg 6 woen < @ @ ot R 2
(A)  ifem wg By~ worEdi a9
© e arg (D) =g
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In the problem of double counting, which good i3 counted twice ?
(A} Final good (B) Intermediate good
(C)  Capital good (D) Durable good
ST W g W st % e @, @ o ety @ o e ¥ 2
- (A)  |gem B) ftmin
(Cy  anfegfd (D) T & N T

22.

23.

24 .

When market supply is equal to market demand then this situation
1s called

(A) Equilibrium (B) Excess demand

(C) Excess supply (D) None of these

ferge =1 o form e 5 A 2 o

(A) it (B) uwIfur wfrequt

(C) seufusr (D} i i

What kind of market is market for biscuits ?

(A) Monopoly (B) Monopolistic competition
(C)  Oligopoly (D)  Perfect competition ‘
‘@ﬁ?%ﬁ%Sﬁﬁﬁﬁﬁ@ﬂmﬂﬁ(DyﬁﬁﬁmfﬁLmam@m?
(A) D>S B) D<sS

(C) D=8 (D) T ¥ Hig T

At a price more than equilibrium price, what will be supply ( S)
compared to demand ( D )?

(A) D>S (B) D<S

(C) D=8 (D) None of these

form feufa & wgem hiwa aon won § aieds 6 R @ 9@ »
(A) & gin 9% T B s @

B) & gfd T i e w2

() e .gfd a% 4 R s @

(D) &0 & w T |

l

[ %]
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In which situation is the change in equilibrium price and quantity
is in the same direction ? ”
(A) When demand curve shifts rightward
(B) When supply curve shifts rightward
(C) When supply curve shifts leftward
(D) None of these

mﬁwﬁ%ﬁmﬁi%m%?

e Ruifg S w1 (B)  Prerom Fuffa S
(C) e HHad (D) F & % T

Wheat sold at ration shop is an example of
(B) Miniml.im support price

(A) Ceiling price
(D) None of these

(C) Equilibrium price
ot 1 am # yaw of afnina w3 & 2
s Bl - wm Aiia W@
(B) v Bl wmr T i W

€ TEwiwFRaA@E

D) T @ HE T

When will the entry and
(A) When firms are earning supernormal profit

exit of firms in the market stop ?

(B) When the firms are earning normal profit
(C) When firms are experiencing loss

(D) None of these

N

f@)

(a) aftgfd f (B) arfepin Y

er” FEgid (o) wHEaHRTE

The minimum support pricc policy gives rise to which problem:?

(A) Excess supply (B) Excess demand

(C) Low supply (D) None of these
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, 28 e T Rt amive st e Q) e e 8, 70w E 2

(A)
(C)

Tty
FeqitreR

. (B) @uﬁ'@qﬂf
(D) T A w§ T

What is the market where both consumer and firms arc price
takers called ?

(A} Monopoly (B) Perfect competition
(C)  Oligopoly (D) None of these
29 Tk e wer % o 6 fris RuRi 2 2
(A) gl afegifm (B) UhItR
(C) IR D) T & w
Two sellers is a special case of which type of market ?
(A)  Perfect competition (B) Monopoly
(C)  Oligopoly | (D) None of these
30. ueIftwRt wfequt frad swo sam B 2 2
(A) ERE a5 & HRO (B) IESTI™ TEg ¥ FNHU
(C) Ui TUIA 95 % HROT (D) 3 & B T8
For what reason does monopolistic competition arise ?
(A) Due to homogeneous good
(B) Due to non-homogeneous good
(C)  Due to perfect substitute goods
(D) None of these
3T, = d w Faneit i 3oh § s @ 2

(A) ST TE (B) <
) ®fam LBy T R e
Which of the following is under the category of services ?
(A) Canteen (B) Insurance
(C) Coaching (D)  All of these

\/32, frm & s fs gl MIME W@ R ?
(A)  ITHTH B) wfy
©) FRaare BT
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Which of the following persons is producing goods ?
(A) Tecacher (B) Poet
(C) Sportsman (D) Weaver
33, ‘dhifirs gamEl w5 e w7 g e
(A)  fedt s it Fw aaen
B) et safs 6 F=w wr
(€) arefemaed i i g
(D) & T
What is 'Allocation of limited resources' ?
(A) Central problem of a company
(B) Central problem of a person
(C) Central problem of economy
(D) All of these ,
34, PedfRsRisamAamdBe?

(A)  IEIeT AT - () feremm
) wWwem (D) e AT
Which of the following is termed as economic cost ?
(A)  Production cost (B) Fixed cost

~ (C) Monetary cost (D) Economic cost

35, WTWR Fedoraeyr § w4 IdneA fhar 9, e Poflg s war } 2

(A) AT STE ygf «mas
(C) W& | (D) ¥ & T

Who decides 'what to produce' in a market economy ?

(A) Planning commission (B) Market mechanism
- (C) Government (D) None qf these
36, NN W F HHA frd ¥ 2
g wm @ A e, W aER i

(B) Ao Rrad gra Far-faskar ok 7 € 98 B

(C) e Wi diéd

(D) oA
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What do we mean by the word ‘market’ ?

(A)  Place like a square, local market etc.
(B)  Means by which the buyer and seller are in touch with each

other like phone

(C}  Online shopping portal
(D) All of these

- A § &t arefermen @ >
- (A)  Tafye srtemen (B) dromrag g
(C) WIS refsmaeen (D) T A+ T
What type of economy is in India ?
(A) Mixed economy (B) Planned economy
(C) Market economy (D) None of these

39.

aﬁﬁqﬁ-ﬁﬁmr@wﬁmmmmﬁmmﬁ?
(A) HHRIES IS C(B)__ =afy st

(C) eEis Iefvme (D) (A} 3k (B) A

Under which of the following is the price determination of goodé by
demand and supply studied ? https://www .bsebstudy.com

(A)  Positive economics (B) Microeconomics

(C) Normative economics (D) Both (A) and (B)

%aaﬁwamﬁmﬂmﬂgaaqﬁ:%fmmmﬁﬁw
g R

(a) T srfeEen (B) F=hepa a'-nfamw
(C) YSiard smeimEen (D) T & B T

In which economy are the resources allocated for happiness and
prosperity of the whole economy ? |

(A) Mixed economy (B) Centralised economy
(C) Capitalist economy (D} None of these ;;
24 /A/XII-5013-@37/40) Page 12/ 3%

https://www.bsebstudy.com




[326

40.

41]1.

42,

72 @ % e ple+p2xzmM,ﬁ Py Py P

A THIEIG2HE (B T 1T w2 A

(C) I HI (D) & P

In the equation of budget line p x, +pyX, =M, what are p,, P,
(A)  Prices of good 1 and good 2

(B) Quantities of good 1 and good 2

?

(C) Income of consumer

(D) None of these
ﬁwﬁéma{aﬁ@mﬁ%ﬁmwﬁmﬁaﬁmmﬂ ?
aA) 4 . (B) IqW _
© Few () wH A
Which of the following variables is defined for a
(B) Consumption

time period ?

(A} Income

©) Investment (D) Al of these
P 3 & @ e B oA 4 2
(A) wad | (B) HHETeE W TE

() U, ag, THEIW BT Wi 3 wit—"
Which of the following is capital of economy ?
(A) Building (B) Office place

() Road, bridge, airport (D) _All of these
Wﬂaﬁﬂﬁﬂﬂﬂzg-ﬁz%maﬁwmﬁ ?

~43.
(A)__ gwa A - (B) frae faaw
R | o) T & H T
What is the adjustment for routine wear and tear of capital goods
called ? | |
(A)  Gross investment (B) Net investment
(C) Depreciation (D) None of these
44. @nﬁaﬁaﬁwwmm%?
(A) SO | (B) s
() el (o) wHaWh
24 /A/XI1-5013-137/40) Page 13 / 32
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Who purchases capital goods ?

(A) Consumer (B) Businessman

(C) Entreprenecur (D)  All of them

Freht =it 3 arw el ) witted A e Peed o & 2

(A) PEha (@) IEE

© uxad (D) T @ wd T

From where does a man get the ability to purchase goods ?
(A) From capital (B) From income

(C) From land (D) None of these

W e $ oM % add vag § @ % HRH B AN e
Y ?

(A) 9fER 5w (B) TENR &7F

€ fgwans (D) T & wrf T

Who demands the factors of production in circular flow of income
of aimp!é economy ?

(A) Household sector (B) Business sector
(C) Foreign sector (D) None of these

- Jdferaey # aiaR & g fee T =g @) T e € 0
(A) . fPRwem B ITT =
(C) g\ =9 - (D) Tl esm

In an economy what is the expenditure made by household sector
called ?

(A) Investment expenditure

*

(B) Consumption expenditure

(C) Import cxpe%lditure

(D) Export expenditure

o I WhH # et aegai &1 I W § 2

SAT T AT B) wead Tt
() 3ifem s D) (A) 3k (B) 2
24/A/X11-5013-@37/40) Page 14/ ¢
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What k%nd of goods does a firm consume during the prﬂf:[ca; n'f
production ?
(A} Raw material (B) Intermediate goods
(C}  Final goods (D)  Both (A) and (B)
49.  FHA oA afA - A = Praet qea affa, wt awn B 2
(A) I T (B) ¥ea aftfa
(C) i i fash (D) ¥ @ % T
In Gross value added - A = Net value added, what is A ?
(A}  Depreciation (B) Value added
(C} Sale of firm {D) None of these
50, e wehet wte] Iearg Y o e it o oy et 2
{A)  TduE HEE ®  (B) ImuR 9§ FiEd |
() for $wat w D) T & & T
Nominal gross domestic product is measured at which prices ?
(A) At current prices (B) At base year prices
~ (C} At constant prices (D) None of these
51, Ok 2023 FT INE G5 GaEiE TR fea o @ el ge B ge
2010 % Hiwal & $ I, d 2023 T 2010 FAN: W1 E ?
(A) HTER 94, 9] 9N - (B) e ¥, e 9
—fe) =g oY, amuR o (D) muR ¥, IR ad
If consumer price index for 2023 is being prepared in which prices
would be compared with 2010 prices, then what are 2023 and
2010 respectively ?
(A} Base year, current year
(B) Current year, current year
(C) Current year, base year
(D) DBase year, base year .
so  m§ 2020 F I IEd GEEHH M FA F, R S A I A
wanft ?
(a) odaH ad | (B) ¥mw
(C) 2023 (D) 1947
"~ [24/A/X11-5013-37/40) Page 15 / 32
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|
' prices of which

For preparing consumer price index of 2020, the
vear would be used for comparison ?

(A}  Current year (8) Basc year

(C) 2023 (D) 1947 «
53. ﬁwﬁmmmmmmwﬂmﬁmﬁﬁ

Ryt ¥ ym Frae sre g = a2 ‘

(A} RUTHS (B) €AITH

() A (D) A FE T

If a country's gross domestic product is greater than its gross

national product then what would be the net factor income earned

from abroad ?

{A)  Negative (B) Positive

(C) Zero (D) None of these
54. FaEa amey - ATIE H - 2 ?

A) Z=TEE" W (B) Z- 39N

© z-Fm=R D) ¥ A B

Net Indirect Taxes = Indirect taxes - Z ?

(A) Z = Direct Taxes (B} Z=Factor

(C) Z = Corporation Tax (D} None of these
__55. TR W W @ g a2

] 39 (B) W FH
(C) FTEE R E D) ¥ A 7

Cooking gas ( LPG ) at lower rate is an example of

(A) Subsidy (B) Direct tax
(C) Indirect tax (D) None of these

6. e i A faet ff % wrem & w9 & aehifies whewd ¢ 2
(A) WU B |
) - D) faftome uxm
24/ A/XI1-5013-37/40 T Page 16 /
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Which of the following mecans of exchange has universal

acceptance ?

(A) Bond (B) Gold
(C) Land Asset (D)  Legal tender
57. tﬁmq_fzﬁﬁ#aqﬁwamﬁaﬁﬁqqmaﬁqﬁﬁmqﬂaﬁqﬁm?
() wer (B) =t
() fer (D) ¥ & o
What would be the change in demand for money for transaction
purposcs due to rise in prices ?
(A) Increase (B) Decrease
(C) Remain constant (D)  All of these
58. mmﬁﬁwﬁﬁ%mnﬁﬁmmmwm%?
(A) i A 3R fas (Co)
(B)  ®im 3@ (DD)
(C) oW wua A% 1§ = Jund
@) (A) 3 (B) I
Of the alternative measures of supply of money by Reserve Bank of
India which is the correct component of M1 ?
(A) Currency note and coins (CC)
(B) Demand deposits (DD) ¢ L
(C) Savings deposit in post office savings bank
(D) Both (A) and (B)
59, afas v frw @R & S 2
A maEfy S @ (B) &=d SHI @l
(C) e W wr (D) wH & wd T
Time deposits are kept in which account ?
(A) Term Deposit Account (B) Savings Deposit Account
(C) Current Account (D) None of these
24 /A / XI1-5013-(37/40) Page 17 / 32
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J-

R Wt CU B 3fk wm DD @ A el T I TN A 2

(A) CuU/DD (8) DD/CU

(©) DDxcCuU o) A awE T

If currency is CU and deposits is DD then what would be currency
deposit ratio ? |

(A) CU/DD (B) DD/CU

(C) DDxCuU (D) None of these
61. hEMPrra iy & wef oY g forr i e R 2

GV I B) R I

() FHA I (D) T A F§ T

Due to technological progress, in which direction will a firm‘aﬁ
supply curve shift ?

(A) Leftward (B) Rightward
(C) Upward : (D) None of these
62. HWra W Wk I wiadt T @ ® few frg WA & 2
(A) =W g W (B) =iamfag W
() Frdgeeved (D) 334 e @ve &
The marginal cost curve cuts the average variable cost curve 3*;
which point ?
(A) Highest point (B) Minimum point

(C) In declining pqrtion (D)  In rising portion
/m./ o= % ®19 T35 ISR A U S AWK W R R

@) T o a5 (B) T oI T
AC) FadfEd e Es By TR W

Which of the following curves is of shape of English letter 'U' ?

(A) Total fixed cost curve

(B) Total cost curve

(C) Total variable cost curve

(D) None of these

24/A/XI1-5013-37/40 ~ Page 18/
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65. -

67.

(326 ]
(q ¥TE A T FT W) - (g - | Forf I R FA AOW) = 2

a) a9 (B) Hmia @A

c) R (o) wHASE

( Total cost of g units of output ) — ( Total cost of g - 1 units of
output } = ?

(A)  Average cost (B) Marginal cost

(C) Fixed cost | (D} None of these

g ST 9% @ s e a3, a1 e s & g & 7

(A) IR UIHRH (B) x-3T9 % AR

(C) 3SR 'S AERFH By A wiE T

Marginal cost curve and average cost curve, both are of which

shape ?

(A) Inverted U shaped
(C) Inverted 'S’ shaped ' (D) None of these

af @it S F e(e>1) T G A & Rred e o ¢ T 4G AT &

NP FEAE?
@) for i 1 afea B) adum AR %1 fewa

(B) Parallel to x-axis

"(c; grauR 4 1 yRea (D) T ¥ Hig T

If all inputs are increased t(t>1) times such that output also .
increases t times then what is this called ?

(A) Constant returns to scale

(B) Increasing returns to scale

(C) Diminishing returns to scale

(D) None of these

FHia-TTAH I BAA qxx-l‘xx:c?ﬁ ﬁw&awﬂ,ﬁtww Tt ¥ ?
A Rrtmwtws () TR R W sRe

© wwmERERes (D) wH wE @
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- =x2 Poif o+ >1
In Cobb-l}ouglass production functien g=X XXy, 1 B>1, thﬁ*ﬁg

what does it show ?

(A} Constant returns to scale
(B) Increasing returns to scale
(C) Decreasing returns to scale

(D) None of these

68. ﬁ‘h%ﬁﬁwm‘gﬁm=? :
A) e an (B) e EwE
€  Fo el anm (D) T A N 7
At zero level of output total cost = ?
(A)  Marginal cost (B) Fixed cost
(C) Total variable cost (D)  None of these
69.  AFW T / ag < >
(A)  Ifea eV B) Hmiw s
€)  F wfadl e D) ¥ & $d
ATotal cost/ Ag=7?
(A)  Average cost (B)  Marginal cost
(C)  Total variable cost | (D)  None of these
70. m%%wwﬁmmﬁﬁ%?
(A) HES (B) e
© Y= D) i d 3§ 7
What is the slope of short run average fixed cost curve 7
(A) Negative (B)  Positive
(C) Zero (D) None of these
1. W@ A F freor #Y wgert ¥ e wan w3
(A) wft @ ftsw a5 | (B) T v aifeyg g
(C) Tl gl H1 ST D ¥t @ iy o
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what does the government do to change the distribution of
income ?

(A)  More taxes from the rich

(B) More expenditure on the poor
(C) Provision of public goods

(D)  All of these

72, YhmuiEm A aed @R e ?
(K) SR HW
(B) wY ==
(C) drEwr IuHAl & I 6 sk 3 3.
(D) ¥ & B A
Which is the most important head of capital receipts ?
(A}  Public debt
(B) Small savings
(C) The income from the sale of shares of government enterprises
(D) None of these
73 TEENg AT RE e ?
(a) Twiaa afg (B) ¥ USFIN W JTH HEAT
() om# g Coupr wEawh
What is the main objective of fiscal policy ?
{A} Increase in output
(B) Achieve high level of employment
(C} Increase in income
(D)  All of these
74, WIS oY OTE TR ?
A ~C AY
(A) a; 1——cc B) 1 1r.:
C) T (D) sﬁ q 5§ T
What is government expenditure multiplier ?
Yy - AY
A 'i?“'i"i& (B) AG‘li
. (€) One (D) None of these
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75. | W s w1 A T d .

&) = B) %

© 2 ©) AW

What is the value of balanced budget multiplier ?

(A)  Zero {(B) One

€ Two (D) None of these
76, P d feuy Wﬁﬁ'ﬂﬁmwm 2

@A) =3 (B) wWA |

HE) R ) wEawh

Due to which of the following there would

be burden on futyre
generation ? |

(A) Expenditure B) Tax

{C) Debt (D) Al of these |
77, iRl 9 g, =i, swm ol o -fosa =1 R ﬁmmﬁ

R ? | |

(A) S @ “B) & wm

(C) Infia @ (D)

bond etc. are kept in which account ?

(A)  Current Account (B) Caﬁital Account
[(i} Reserve Account (D)  None of thege
8 - fafya T BTE | 1 gy 7
S T B) Tt

© ¥ fam D) =% d 9 g

What will det:reasg due to exchange rate dépreciation ?

(A) Import (B) Export

(C) Capital investment (D) None of these ;
24/!&/}(1!-5013—137;«:. | pageﬁ/ff
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79.

80.

81.

82.

If other inputs are constant

[ 326 ]

el Jrefeaae % g w1 Ehm P

A) Y=C+I (B) Y=C+I+G

(C) Y=C+I+G+X-M (D) T & #rf T

What would be the equilibrium of open economy ?

(A) Y=C+1I (B) Y=C+I+G

(C) Y=C+I+G+X-M (D) None of these

g # #19 w3n 2, wmmwmwmﬂw ?

(A) TE efemEe B (B) W6 ST K1
(C) <Fi aUsE (D) ¥ &
Which is larger, the multiplier of open economy OT the multiplier of

closed economy ?
(A) Multiplier of open economy
(B) Multiplier of closed economy

(C) Both are equal

(D) None of these
mm@nﬁa}ﬁwﬁ@m%mﬁiﬁﬁmamm
F o ufadd g 8 ?
(a) vz e @ B) fa@d?
) fRrwh? (D) T & % T

then increase in use of one input

causes what changes in marginal output ?
(B) It increases

(A) It decreases
(D) None of these

(C) It remains constant

am*mmﬂﬂz@mﬁﬂhmmmmﬁm
HEena € ? |

(A) EHIIR 56 (B) FARmE T

() | (D) T4 &+ 7

What is the set of combinations of two in
puts which
equal level of output called ? produces

(A) Isoquant curve (B) Indifference curve
(C)__ Isocost curve (D) _ None of these
24/A/XI11-5013-(37/40) "~ Page 23 / 32
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83.

85.

[326)
B & fem s ) s Y At F-ofeafta R 1w R 2
{A)  =m (B) =1 °TA
(C) wefts (D) wTH g ol

Quantities of which of the following inputs can be varied in the
long run ?

(A) Labour
(C) Machine

(B} Raw material

(D)  All of these :
HE wvE T A T 5 Y e faeg w2 o
(a) = fag w

—8) T Ry w
© "= fgw D) = F % 7
At which point does marginal cost curve cut the average cost
curve ?
(A) At highest point (B) At lowest point
(C) At mid-point (D)  None of these

mym%mﬁﬁm%mﬁmﬁﬁmm%?
(A) fﬁn@ﬂﬁaﬁm%:ﬁt«mﬁ

B) ¥ 3 sitwa 3wt F rm

(C)  Hmm 3 o1 Iedt F o &

(D) = & =i 3

In the law of variable proportion, which Proportion is varied ?

"{A)  Proportion between ﬁxe_d and variable inputs
(B) The ratio between marginal and average products
(€)

The proportion between marginal and total products
(D) None of these

| s
24/A/ X1I-5013-(37/40
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If there is an increase of t times in factors of production as a result
this be called ?

of which output increases t times then what will
Increasing returns to scale

(A)
(B} Decreasing returns to scale
(c} Constant returns to scale
(D) None of these
37, gﬁ%-gﬁ%ﬁﬁﬁﬁ,wﬁmmmwﬁmm
e
@A) greEd e By~ firme e 2
© ferw? (o) wH A BT
e beginning what change

As the quantity of input increases, in th
takes place in the short run marginal cost curve ?
(B) Declines

(A) Increases
(C} Remains constant (D) None of these

8. ey @ T G TE R P
() v airdl @ = T Tt
T = aitga TRl A x A

(B) T Licail |
c) oitga aPmd = FT
D) FTHE ot
Which of the following equations is correct ?
. . Total variable cost
(A)  Average€ variable cost = Outpul
(B) Total variable cost = Average Variable Cost x Quantity
Total cost
(C) Average cost = —-*“"""'"q
4D} All of these
L89S frg § ®HF 9, ﬁﬁaﬁwﬁgqm%?
©(a) dwra @ g% Fa ard T &+l
¢y diia @A P 3faa anTd % B
(c) dmra Ard o et T T
(D) =i 8 #if EL4]
T [24/A/X11-5013 07140 —— e
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90.

LS 91 .

92.

AB)  weEr wfniieat *1 faser wom

I 326

F « .urve at its minimum
Which of the following curves cuts which ¢

point ?

(A) Marginal cost curve cuts Total cost curve
(B)  Marginal cost curve cuts Average cost curve
(C)  Marginal cost curve cuts Fixed cost curve
(D) None of these

W A G v F A SR R P

(A) e wrE B) 3iea giad! v

(C) —gFam twa wE (D} ™

What is the difference between firm's total revenue and total cost ?
(A) Marginal cost (B) Average variable cost

(C) Minimum average cost (D) Profit

¥% % I T ST I T T S W W A h QRN ;P
(A)  fes Bt 2 (B) =t Bt R

(C) w9 &t 2 (D) T A+

As compared to the rate of interest on deposits in bank, the rate of
interest on loans is

(A) more (B) equal

(C) less ' (D) none of these
u&ﬂa&hﬁﬁmﬁﬁmgmﬁqﬁm%ﬁaﬁwm?
(A) aHR gfenyfaat &1 g wum

(C) %% I g & gfg wem
(D) ¥ ¥ FE TE

What will the Reserve Bank do if it wants to increa

se high pc"%'-i"‘ﬂ"’d
money ?

(A)  Will purchase government éecurities
(B)  Will sell government securities

(C) Will increase cash reserve ratio

(D) None of these

e AT Gy R T ) T
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93,

94.

96,

[ 326 |

IO F C=C+cY R c w4 7

(A) % : (B) = A aa 3avm
(C) ¥ I9Am (D) ¥ @ et

In consumption function C =C+cY,whatis c ?

A 2%

(B) Minimum subsistence consumption

(C) Autonomous consumption

(D}  All of these

ey 5§ # s o wis T R 2

(A) WA (B) WM

{c) WFH (D) W

Which of the following is not physical capital stock ?

(A) Machine (B) Buildings

(C) Roads. (D) Fruits

v =T+ T+G+ ¢ (Y-T) # BA-F7 WEd "E?

a C ® !

© G () A& ad

In Y=C+ T+G+c | y-1), which of the following is autonomous
term ? _

@a C ® I |

© G (D)  All of these
a5 o C:E+c¥ﬁ cﬁ?ﬂﬁﬁmg?

w @8 (B) T

) THIF o) FIW

nsumption function C=C+ cY?

What is the value of ¢ in co
(B) Equal to one

(A) More than zero
(C) Less than on¢ (D) All of these

Page 27 / 32
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98.

99.

ls%'}'
mmmm@amwmmmm?
(A} @ - B 1
(C) 1000 (D) wd™

If the marginal propensity to consume is equal to one then why :

would be the value of multiplier ?

(A) Zero By 1

(C) 1000 (D) Infinite

Tt win Ragi # 450 Y@ 0 gaidt R 2

(A) Y=AD (B) AD=AS

(C) W9R FgeH @ D) T @ ot |
In the theory of effective demand theory what does 45° line show?
(A), Y=AD (B) AD=AS |

(C) Market equilibrium line (D)  All of these

3 diwia w=a wgft a5 o ¥ @ a=a i 7 § w@ aiEds w2
(A wgh B R

(€ weh D) ¥ A+ &

If the marginal propensity to save increases then what wouk?
happen to quantity of savings ? | 3

(A) Would increase (B) Would remain constant

(C) Would decrease (D) None of these

R afaral 6 gl v PR wrer g o ol @ wr e E2
(A) WIH= B) wmw=w |
© R O wHIDEE 4
What are the variables which are defined at a particular point o
time called ? :

(A) Stock variables (B) Flow variables

(C) Constant variables (D} nNene of these
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Q-8 Ireferaeen ¥ vgew R wm v R

What are the conditions for equilibrium of two-sector economy ?

2. U AW W NG o ¥ ? 9
:What do you understapd by burden of debt ? B
3. T uRTER? " 2
What is revenue deficit ? .
4. Ui wieeadt it B Hhag wens w5 ww @ d 2
Why is ptf:1:';t'c5':t:,t1‘;,ar competitive firm called price taker ?
5. ¥R Gger % fafda fifve) 2
Draw the market equilibrium. |
IR R 2 fvasii w1 dd § aviv ) 2
Describe two characteristics of a monopoly market in brief.
7. qwagend? saEed| | 2
| What is complementary good ? Give examples,
g tmulas Rt wifed Aot fidg e~ 18 5
Draw a demand curve whose price elasticity of demand e= 1,
9 wmEIFMaATFIR? 2
What is price elasticity of demand ?
10. -3 % g g Al w1 Wl R 2
Write the equation for transactionary demand for money.
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11, ot oy sy =) . 2
Define demand deposit. ] |
12, h%wﬁsﬁﬁammmiﬂ%? 2
By which process does bank provide loan to a person ? '
13 TEEN Wi Searew fam w) b 2
State the law of diminishing marginal productivity.
14, 3Nwa ofwdt e o fefi =3 2
Draw average variable cost curve. .
15. muﬁwtﬁﬁﬁ@ﬂai@ﬁﬁimmﬁl 2
Show the price line of a competitive firm with the help of diagram.
16. =N TP Howr @ wow A A R o | 2
Is a country rich in natural resources prosperous ?
17. Q= o o 2 waw = F 1w Rl 2.
Write the names of two stock variables and two flow variables,
8. PR ¥ s wnam E o W frm R En ¥ 2 2
| What do you understand by investment ? How many types of
investment are there ? https://www.bsebstudy.com |
197 srdwme A iy ¥ T e § o 2
. What do you understand by land in economics ?
207 e ¥ s e % v 3w # 5 .
- What are the uses of natural resources in economics 7 |
21. s nenid W gan e » S 2
What happened during global depression ?
22. ﬁﬁmmaﬁmmm%dﬁﬁﬁmﬁaﬁ; 2
£ Define exchange rate in terms of rupee and dollar.,
|23, AT WY @ 3 2
: Whatdo you understand by trade deficit 7 s
24/A/X11-5013-7790 Page 30 / 3%
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G

o aeh orfsmen & 9 wn ww K 2 2
What do you understand by open cconomy ?

)5, WWE @ ) afonfe W) 2
Define budget line.

20, mmﬁﬁ%ﬁﬁﬁi 2
Draw consumer indifference curve. B

y7. win wer w7 v
What is demand function ?

28. mWﬁﬁﬁMﬁa&ﬁmﬁml 2
Write in brief two characteristics of market f.:r;oggmyw

»o  Jered w6 w gt & 2
What does production possibility curve show ?

W%ﬁm%mwmt; . 2

30.
sis 7 “

what do you mecan by positive economic analy

#ie 3t AT / Long Answer Type Questions
v wEdr 31#38wﬁ#mﬁ3m#aw4wﬁ$'wi | AT F
msaﬁﬁaﬁ##:mmm 100-120vEi A& : 4 x5=20

Question Nos. 311t Long Answer Type. Answer any 4 questions.
Each question carries 5 marks. Answer in 100 - 120 words each :
4 x 5 " 20

wmmémﬁq%mmmﬁw@mhmﬁ, 5

31.
Does increase in gross domestic product show an improvement in
public welfare ? Explain.

32. W%mmﬁwwmﬁ?m%mﬁﬁ,‘ <
wWhat are the important functions of money ? Write Wit:h. e ]

33. ﬁamﬁmﬁaﬁﬁmﬂmﬁmﬁm; o ples.
Explain paradox of thrift. S
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35.

36.

37.

38.

[ 326 |
T TR 3w ww § wn gay @ 2 e HIC 5

What is the relationship between government deficit and
government debt ? Explain.

I T % FIO IR Hge W gl 5
Show consumer's équilihrium with the help of indifference curve,
Fo 9, Wi W @ sia aea = Rl g el 5

Show total cost, marginal cost and average cost with the help of
diagrams.

e wfererdt wd & amy s =t R gro wE Sl 5

Clarify profit maximization of a competitive firm with the help of
diagram.

frran Praifa $ima £ Ay 5t R gro o 5

Show the minimum support price policy with the help of diagram.
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